Question Paper Preview

Notations:
l.OptiOﬂS shomwl in greer color and with % icon are correct.

2 Options shown in red color and with % icon are incorrect.

Subject Name: COFFICE ASSISTANT [T ACCOUNTS
Duration: 180
Total Marks: 200.0

Question Number : 1 Question Id : 13509 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Debit means
Options:
1 & anincrease m asset

- % an increase m liability
= % an increase mn the proprietor's equity

4 % a decrease m asset

Question Number : 1 Question Id : 13509 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

2T T I B

Options:

1 « "dicd H ded

o % cifficad A dad

5 % AIEE $r s F Fed
4. % Hdfcd H &AT

Question Number : 2 Question Id : 13510 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
A withdrawal of cash from business by the proprietor 15 credited to

Options:
1 % Drawmgs Alc

> #% Capital Alc
=« Cash A/c
4 % Profit & Loss A/c

Question Number : 2 Question Id : 13510 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Aol GaRT MR ¥ dhal &I AwrT & e & § g @rd & s#7 R Jrar 82

Options:
1 & 3ed9T 9rdr

Question Number : 3 Question Id : 13511 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IFRES are based on
Options:
1 % listorical cost

o " fair value
= # both historical cost and fair value

4 % accounting period

Question Number : 3 Question Id : 13511 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

IFRS forg o¥ 3menfyd &

Options:

| % e e

z_wﬁﬁﬁﬂﬂ

5 ® CldEIES Hed vd 30T #qed,
4 % W Tl

Question Number : 4 Question Id : 13512 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
According to the cost concept

Options:
1 «” assets are recorded at the value paid for acquiring them

- # assets are recorded by estimating the market value at the time of purchase
5 % assets are recorded at lower of cost or market value

4 % assets are recorded at higher of cost or market value

Question Number : 4 Question Id : 13512 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AT STEROT F HFAR
Options:

I_Jqﬁ‘xﬂiﬂmdré U @el & ToIT ${TaTel Hed W gt 1 7S &
o x IREUCHT F @l & WAT F GER Hed F HRAT FE g IS §
5 » UREUTCHIT 9N a1 96K H{ed, S A gL # g f s §




4 % IREUCHAT AW a1 AR Hed, S 3w g A ast o oas g

Question Number : 5 Question Id : 13513 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
"Auditor 1s watch dog and not a blood hound” 1s a phrase which 1s given by

Options:
1 « Justice Lopes

= # Lucas Pacciolt
= # Adam Smath

4 % Charles Darwin

Question Number : 5 Question Id : 13513 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

"37heTeh Ueh I@dTell @del aTell el &, Ice dTell «Ig" Ig Tohdel &gl ar?
Options:

1 o SATeeT wed
o s Ol OfEETe

= % UsH Ay
E ey STfdeT

Question Number : 6 Question Id : 13514 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
What 1s backbone of auditing

Options:

1 # Accounting
- % Book Keeping
= « Vouching

4 % Reporting

Question Number : 6 Question Id : 13514 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Options:

1. % oT@hed

o % S6T @rar

=« Tcadd (A1)

4 ® goT {itq éE‘}

Question Number : 7 Question Id : 13515 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Income Tax 1s a

Options:

1 % Indirect Tax

o % Durect Tax



= % Value-Added Tax
4 % Fme

Question Number : 7 Question Id : 13515 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3T T T 87

Options:
1 # HYCERT &y

o o Ucdal &

o x Hogard &
4 % QUS

Question Number : 8 Question Id : 13516 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Section 80 C under Income Tax Act refers to

Options:
1 % Eebate

o % Deductions
= # Other sources of mncome

4 % Capital gains

Question Number : 8 Question Id : 13516 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T &Y JafETE 7 O 80C =T gotdr 27

Options:

Question Number : 9 Question Id : 13517 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Subsidy recetved for research and development 1s

Options:
1 " Social costs

o % Eesearch costs

- #® Research benefits

4 % Social profits

Question Number : 9 Question Id : 13517 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

eqeere 3R fasr & fov urea $r wiewst @ g7

Options:

1 " HHASS oed



o % SAHHE W

5, % SHEETIE s
4 % THASS e

Question Number : 10 Question Id : 13518 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Creation of employment opportunities 15 considered as

Options:
1 % Social costs

- % Social profits
2 % Emplovment

4 % Social Expenses

Question Number : 10 Question Id : 13518 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TSR & AT & Hold FAT AT AT 67
Options:
1 « "HAAS e

5 % HHAS® e
3 % =9
L

4 % A @9

Question Number : 11 Question Id : 13519 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
In India. CRR is set according to the guidelines of

Options:

1+ Reserve Bank of India
2 #® Central Bank of India
% # bState Bank of India

4 % NABARD

Question Number : 11 Question Id : 13519 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ARA A, W3R e Gurfadel & sewr eifia 82
Options:

1_ﬁ?ﬁqﬂ?ﬁ'ﬂ'ﬁ3ﬁgf'§$
5 % AROT TeT dd
4 % AES

Question Number : 12 Question Id : 13520 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The rate at which central bank (RBI) lends money to other banks or financial institutions

Options:



1 % DBank Rate
o " Repo Rate

= % Reverse Repo Rate
4 % Cash Rate

Question Number : 12 Question Id : 13520 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AR Rerd o o &7 X gat dF va faedia gears & 99 3uR &ar &, 39 &Y &
FEd ©

Options:

Question Number : 13 Question Id : 13521 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

For a capital budgeting expenditure. the NPV of a project at 18% 15 Rs. 15 lac negative. at 10% 1s Rs.
12 Lac positive. and at 14% 15 zero. The IRR from the project 1s

Options:
1 % 18%. as there 1s deficat

= o 14%. as 1t 1s zero
= % 10%. as there 1s surplus

4 B 12%

Question Number : 13 Question Id : 13521 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TS Ueil dele =19 F v, Qjﬁfﬂﬁﬂmﬂﬁ18%ﬁﬂm?§15ﬂﬂ§mﬁ’.
10% &7 & W ¥ 12 & HHRAS & a9 14% & a0 | A & TRASTA § AP
AT et T £7

Options:
. % 18% Fgfe 377 §

o o 14% FF = 5
- x 10% e 3#fady ¢
4 ® 12%

Question Number : 14 Question Id : 13522 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Incorrect classification of capital expenditure as revenue expenditure would result in

Options:
1 # Reduction in capital

> % Incease in capital

= " Increase in loss



g4 #® Noeffect

Question Number : 14 Question Id : 13522 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Wcﬂﬂﬂ-ﬂild{-d T & ®F H ITed dIfndoT &l IO FAT §Ham?

Options:

1. % Hell A H
o, x UL H di%
5 v B 7 gig
4 % IS TG AG

Question Number : 15 Question Id : 13523 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

X to recerve Rs. 3000 at beginning of every year for 3 vears at 5%. How much amount he 15 required
to mvest now.

Options:
1. ¥ Rs 2365050

2. ¢ Rs.22729.60
3. % Rs.21942.15
4 % Rs.21308.75

Question Number : 15 Question Id : 13523 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

X T &rel &1 &3 H F 5000 9idawy o< @reil e 5% @ a¥ & 9rar =igar g 37
39 fahctelr ToIder e gram?

Options:
1. % ¥ 23650.50

> o T 22729.60
308 T 2194215
4 % ¥ 21308.75

Question Number : 16 Question Id : 13524 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Eamesh has the option of investing Es. 60000 at 10% p.a. with annual compounding for 3 vears. It
will fetch him maturity value of Es. 96000. What will be gain or loss in terms of present value

Options:
1 % Es 16900 loss

- ® Rs 22170 loss
= % Rs 16090 profit

4 +« BRs. 16140 profit

Question Number : 16 Question Id : 13524 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



W & 91| T 60000, 10% wid a¥ X 3 & & &0 |@renar awafg = & 91y
forder e & oo 1 g 37 ¥4 96000 & uRueadr HAed Yo &N daAe Hed
& Tcs H e T i T grEir?

Options:
, % ¥ 16900 gifar

5 % ¥ 22170 gifer

3. % % 16090 wmsy
4 « ¥ 16140 vt

Question Number : 17 Question Id : 13525 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The estimated value of an asset at which i1t can be disposed of after a given no. of vears of useful life
15 called

Options:
1. % depreciated value

o % written down value

2 « residual value

4 # net value

Question Number : 17 Question Id : 13525 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T IREITcd & AT Aed, o @ ag 39l sfae & aut &7 &7 7% §er &

gl fo9erar A1 Tehar § & &ET ST ©
Options:

1 % BITTe i L
o ® UEEI
= o HAIEL H‘\FII

4 % Y& HeA

Question Number : 18 Question Id : 13526 Question Type: MCQ

Correct: 1.0 Wrong: 0.25

(Cost price of asset - scrap value) / no. of vears of estimated life of the asset. This method of
calculating depreciation 1s

Options:
1 % annuity method

> % depletion method
o ® written down value method

4 + straight line method

Question Number : 18 Question Id : 13526 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

(Hufed @ @RI AT - Haf¥se Aed) / 3Uaph shaa & adf & gear
Hed 1 T A0TAT &1 I§ il §



Options:
1 % arfd<hr fafer
> % Al fafEr

2 % Hﬁv?ll [Z3E3l ﬂﬁvﬂ fafe

4 TR @ fafer

Question Number : 19 Question Id : 13527 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

When the future cash flow from a project is discounted. the project can be accepted if the net present
value 1s

Options:
1 # Zero or negative

- # Negative
= " Zero or positive

4 % More than one only

Question Number : 19 Question Id : 13527 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

U ORESEr ¥ afasr & Jwdr varg REradr gz O sar & ar /, ofEeer e
ferar ST HWehell 30K U8 TOAE Hed &

Options:
1 % &Lrﬂ AT FHITcH<h

o W UM cHh
2 %Lrﬂ AT Hh{TcHh

4 ® Uk H MHTEE

Question Number : 20 Question Id : 13528 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which 15 a source of funds among the following?

Options:
1 « Increase in liability

o % Decrease in hability
z R Purchase of machine

4 B Purchase of land.

Question Number : 20 Question Id : 13528 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A Ia T aFE ?

Options:

| « CIdcd # ded
o % Glidcd H ®AT
5 % A &1 &
4 % FAHIA & HI



Question Number : 21 Question Id : 13529 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question there 1s a certain relationship between two given words/numbers on one
side of (: ;) and one word/number 15 given on another side of (: :)while another word/number 1s to be
found from the given alternatives. having the same relation with this word/number as the
words/numbers of the given pair bear. Choose the correct alternative.

36:64::100:7
Options:
1. % 121
o w0 144
=z % 169
4 % 196

Question Number : 21 Question Id : 13529 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FeaofET geaT &, ®eg (¢ @) & UF OXF of UrEE § v Gdy grae ¢k
=g (: :}ﬁ@ﬂaﬁ%&mﬁﬁmﬁrg@?ﬁmsﬁwaﬁmmﬁwm
fasmedt & & fardll v fawew & ofr §, @ faseq 1 glavl

36:64::100:7
Options:

1.8 121

o o 144

z ® 169

4 % 196

Question Number : 22 Question Id : 13530 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question there 1s a certain relationship between two given words/numbers on one
side of (: ;) and one word/number 15 given on another side of (: :)while another word/number 1s to be
found from the given alternatives. having the same relation with this word/ number as the
words/numbers of the given pair bear. Choose the correct alternative.

i B
Options:
1. % 81
> ® B6
3 " B3
4 % 91

Question Number : 22 Question Id : 13530 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



frrafefad ved &, 9% (0 1) & % OX% o AC/EEHT H UH Ay §raed ¢ AR
B :}ﬁﬁﬁw&mﬁwﬁg@ﬁﬁmsﬁmaﬂmmﬁrﬂm
faeedl # & Tl v fasheT & off §, @8 faweg &1 giavl

7:51::9:7
Options:
1. % 81
> % 86
= o 83
4 % 01

Question Number : 23 Question Id : 13531 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question there is a certain relationship between two given words/numbers on one
side of (: ;) and one word/number 15 given on another side of (: :)while another word/number 15 to be
found from the given alternatives. having the same relation with this word/number as the
words/munbers of the given pair bear. Choose the correct alternative.

Hydrophobia:Water: :Cynophobia:?
Options:

1 « Dog

> #® Fire

= % Death

4 % bnakes

Question Number : 23 Question Id : 13531 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

farafef@aa vea &, Fes (¢ ) & e O ol Ter/TEn3it & e 9w g ¢ 3R
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feredt A & fordll v fawed & off &, @8 Reeq 1 glavl
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Options:

Rl

o % 3T

3 % Hid
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Question Number : 24 Question Id : 13532 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

Khushboo said. " This girl 15 the wife of the grandson of mv father-in-law.” Who 1z Khushboo to the
girl

Options:

1 % Aunt

o % Grandmother

= % Mother



4 +« Mother -in-law

Question Number : 24 Question Id : 13532 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

e o HE1,AG sl AV UL & Ui T Geall 87 | G AShT T AT AACH &

Options:

1 #® E||-ci
> % GIaT
= ® HATAT
4 & {9

Question Number : 25 Question Id : 13533 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
If in a certain code, 1234 15 coded as 1497, how 15 4253 coded in that language

Options:
1. ¢ 7479

o % 4469
3 % 7469
4 % 6469

Question Number : 25 Question Id : 13533 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

R T a9 srar & 1234 & 1497 @ Sar £, dr 39T A & 4253 & Ry
g oEr JARET

Options:
1.¢ 7479

> % 4469
= #® 7469
4 % 6469

Question Number : 26 Question Id : 13534 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Ifin a certain code. 42814 15 coded as 34259 how 1s 12345 coded in that language

Options:
1. ¥ 22551

o 24681
z ® 67587
4 % 24256

Question Number : 26 Question Id : 13534 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3PN o a9y smar & 42814 &r 54259 for@r Srar g, or 39 |mer # 12345 & g

UehIT Tord@r TR

Options:
1. ® 22551

o o 24681




3. % 67587
4 % 24256

Question Number : 27 Question Id : 13535 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If 1 a certain code, TWINKLE 15 coded as ELKWINT. how 1s SWEATER written in that code
Options:
1« REETWEAS

= % TERWEAS
3. # WEASTER
4 % TERWAES

Question Number : 27 Question Id : 13535 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3PN frdr @9y smar & TWINKLE &t ELKWINT fa@r Jrar .01 33T smar &
SWEATER o &g 9o Tof@r aeeEm

Options:
1.+ RETWEAS

> # TERWEAS
=z # WEASTER
4. % TERWAES

Question Number : 28 Question Id : 13536 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Famesh moved 8 km towards North. He then took a left turn and moved 6 km ahead. How much 1s
he displaced from his original position

Options:
1. % 10 km

> % Tkm
z % 13km
4 % 12km

Question Number : 28 Question Id : 13536 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A 3cal & AW 8 km Tor. 3T« Tk arar Ars forar 3 O ar 6 km #H09T e, a8
mﬁ&gﬁ?ﬁmﬁmmgﬁn

Options:
1.4 10 km

o ® 7 km
= % 13 km
4 % 12 km

Question Number : 29 Question Id : 13537 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Insert the correct number at the place of question mark
56.62.74927



Options:
1. % 102

= # 110
3 ¥ 116

4 ® 122

Question Number : 29 Question Id : 13537 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

geafdeg & FA9E Tar TEar FHiOg fiEd
56.62,74,92,7

Options:
1. % 102

= % 110
z. ¢ 116
4 ® 122

Question Number : 30 Question Id : 13538 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Insert the correct number 1n order to complete the given series.

39 ....81.243
Options:
1. % 18

o o 27
2 % 36
4 % 49

Question Number : 30 Question Id : 13538 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3.9.-...,61,243

Options:
1. % 18

o o 27
z ® 36
4 % 49

Question Number : 31 Question Id : 13539 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The new religion introduced by Akbar 1s

Options:
1 % Dm-e-1lalu

o # Islam
= % Quaran
4. % Dhamma



Question Number : 31 Question Id : 13539 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3eheR CaRT % o 71T & &3] &1 a1 &
Options:

|« G0 -5olar

o W S+ellH

3 % $UA

4 % FEAT

Question Number : 32 Question Id : 13540 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The system of judicial review 1s found

Options:
1 % only m India

- % only in United States of America
= % only in Britamn

4 + Bothin India and United States of America

Question Number : 32 Question Id : 13540 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e GHET @ 9omell el 9=t ST &

Options:

1 B dhdol ANO H

5 % Sha ngrd =T ANET H

3. % &hao fged &

4 v HRd L H*-_id-d U= AN car H

Question Number : 33 Question Id : 13541 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Where was the 2015 Indian National Science Congress held 7

Options:
1 % Jammu

o o Mumbai
= % Mysore

4. # Kolkata

Question Number : 33 Question Id : 13541 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

2015 & HRART TSeT aAd FEH & HESAT FEl bl T 2077
Options:
1 & S LS|

Y

o o %

L
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Question Number : 34 Question Id : 13542 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Who won the US open championship 2015 m Men's Single event ?

Options:
1 « Novak Djokovic

> % Rafel Nadal
= % Andy murray

4 % Roger Federer

Question Number : 34 Question Id : 13542 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

US 3fuet ATOa«iag 2015 & fde 9eul & veher T9el A faora giider $1?

Options:

1.« ddieh SAlhlid=
> % {Thel oIsTel

5 ® TSI A

4 % U s

Question Number : 35 Question Id : 13543 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Fural Landless Emplovment Guarantee Programme (RLEGP) was ntroduced on

Options:
1 % January 26. 1983

o o August 15 1983
= % August 151966
4 % January 26. 1966

Question Number : 35 Question Id : 13543 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AT HIAGT TSR RS wRIHA )RLEGP) I & faam arar ar

Options:

| % Steradr 26,1983
o> « 3ETEd 15, 1983
5 % 30Ted 15, 1966
4 % =AY 26, 1966

Question Number : 36 Question Id : 13544 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
The planning commission of India 1s renamed as

Options:
1 % NITI Mandal

= % NITI Darpan



2 NITI Aavog
4 % NITI Council

Question Number : 36 Question Id : 13544 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

AT & ATSTAT IR &7 ATH dcoldhd 47 @7 I-7 & 7
Options:
1 % =ifd AvsH

Question Number : 37 Question Id : 13545 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which of the following commission marked the border line between India and Pakistan?

Options:
1 % Fed - India commission

5 % McMohan commission
= " Radcliffe commission

4 B India - Pakistan commission

Question Number : 37 Question Id : 13545 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

foFe 7 O Fg 3T & SR OTfhedre & 91ar 3@r fauTig $r off-?
Options:

1 EE%ﬂTHT&“ﬁIT—

5 % HEBAG T

5 o {STdeh HEET

4 % HRA 9rfehEdre-3HTIIeT

Question Number : 38 Question Id : 13546 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Who 15 appownted as new CEO of Volkswagen AG

Options:
1 # Mary t. Barra

o % Kenichi Ayukawa

=« Matthias Mueller

4 % Cyrus Mistry

Question Number : 38 Question Id : 13546 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fardt atererdareT o AT Wisst & &9 A @gaa fear g ?

Options:
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Question Number : 39 Question Id : 13547 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
The headquarter of National Academy of Sciences located i which city of India?

Options:
1 % New Dellu

o # Kolkata
= % DBengaluru
4 + Allahabad

Question Number : 39 Question Id : 13547 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S fasTe saicHT @ HEaTed fh et # Fud 7

Options:

| w @5 Gl
o % Shletdhrdl
S.WW

4« Sellpldiq

Question Number : 40 Question Id : 13548 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Colored ink when poured in a glass of water. it goes downwards and settle at the bottom. Over the
period of tume. 1t spreads upward. Such movement happens because of

Options:
1 ® Viscosity

5 % capillarity
5 o diffusion

4 % stphon action

Question Number : 40 Question Id : 13548 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S e TART &7 UTar & e & s1er Sar ¢ ar ag Tera & S o # SE
4% ST £ | 6 §HYT dG TR TR & /G held 7O § | 59 YR & dcerd &
T HEd & 7

Options:
1 ® AT

> % higldhcd
=« o9




4 % GG fRET

Question Number : 41 Question Id : 13549 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which among the following 1s NOT a type of operating system
Options:

1% Distributed Operating Svstem

> «" Project user Operating System

= #% Embedded Operating System

4 % Real-time Operating System

Question Number : 41 Question Id : 13549 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e & O *la AT Gees &1 v U 787 &7

Options:

|« BRcps s fwon
. o WSIE IeR AT Riven
2 ® Taes IWMET Gves

4 % RTe Tsa AT Gwea

Question Number : 42 Question Id : 13550 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Key Strokes CTRL+X and CTRL+V refer to which action in Microsoft Word

Options:
1 % Cutand Undo
= % Copy and Save

2 ® Copy and Paste

4 + Cutand Paste

Question Number : 42 Question Id : 13550 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

CTRL+X 3x CTRL+V & & AceE e as & dead § & @7 £7
Options:

| % e 3R 33
o W Frar AT g
= ® Far 3N Iee

4 T IR Ovc

Question Number : 43 Question Id : 13551 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which formula 1s not entered correctly in excel spreadsheet?
Options:
1 « =DB5BI10

> % =Sum(B3:B10)
= # =B5>+B10
4 % =B53*Bl0

Question Number : 43 Question Id : 13551 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

o & & Fla @ g vede wisde & @6 gfase a8 G = g

Options:

1.+ = B5:B10

- % = 5um(B5:B10)
z. # =B5+B10

4 % = B5+B10

Question Number : 44 Question Id : 13552 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

" consists of a number of individual "slides” and 1s used to make artistic presentations”.
Fill up with the most appropriate Microsoft- Suite software from below.

Options:
1. % Microsoft Outlock

> o Microsoft Powerpoint
3. % Microsoft Excel

4 % Microsoft Word

Question Number : 44 Question Id : 13552 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

& ToIT yier fRam oirar 8] oot @ §ad 3Ugad ATSHIAe 5 HFeda’ & =de]
ERIE L

Options:

= % HEHHFE T

4 % FABHEFE a5

Question Number : 45 Question Id : 13553 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
Which among the following 15 a wrong value entered in excel sheet?

Options:
1. ¥ 90%

- % Jan 1. 2015



= " House Number 29

4 % 2202

Question Number : 45 Question Id : 13553 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

7 § § i O1 Al oo oussfic # 7og ufafte &

Options:
1. % 90%

5 % SAaadr 1, 2015
5 o Hehlel JE&AT 29
4 # 2202

Question Number : 46 Question Id : 13554 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Software application that allows to view a requested webpage/website 15 called

Options:
1. # URL

> % Compiler

z ® Operating System

4 + Web Browser

Question Number : 46 Question Id : 13554 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g% WA Uoellhele ST ddusl dawise L@ & fov 3aAfa &ar / ¢,

HET ST §7
Options:
1. % URL

o> % SFEHlel
z #% HTOIfedr Ewesd
4 « dd FE

Question Number : 47 Question Id : 13555 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

collects. process and stores data to provide speedy and correct information when
a search engine 1s used.

Options:
1 « Indexmng

> % Hypertext
5 % Uniform Resource Locator

4 % Web page

Question Number : 47 Question Id : 13555 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



ATFRT UGl FAT ¢ g Udh T Sofel &l 39AET fohar Srar g7
Options:

1. w 355;,‘5'53 I Eggiéi “al}
o % BISTRCHEC
5 % TAHH AR ciidhed

4 % od 9

Question Number : 48 Question Id : 13556 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
Which among the following 1s NOT an email functionality?

Options:
1 # Inbox

o # Outbox
= # Drafting
4 + Encoding

Question Number : 48 Question Id : 13556 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

e & T &7 U A FREUUTeT T8l -7
Options:

| % Sodle

o % FT3cdidd

z ® FolEd

4 " Tedlisd

Question Number : 49 Question Id : 13557 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which among these 15 a correct email address?

Options:

] % XVZ {@Wgmail com

L

o

> % xvzl com
5 o xvzl23@yahoo.com

4 % @yahoo.com

Question Number : 49 Question Id : 13557 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

o &7 O oiF % T8 SAF 9ar -2
Options:
1 % Xyz@gmail.com

> % Xyz1l@_.com
3 « Xyz123@yahoo.com

4 % @yahoo.com

st & dall T ThA (1), 8T 3 & & a8



Question Number : 50 Question Id : 13558 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

"Downloading” 1s the process of

Options:
| copyving data/file from remote server to local drive over internet
5 ® copving data'file from local drive to remote server over mternet

. refreshing vour web-browser

4 % searching for a webpage by entering a UEL

Question Number : 50 Question Id : 13558 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Options:

| 3¢/ W15 RAC HRX & TAEET 515d W ScXeIC GaRkT ST Sl &
o % SCI/HISA TAEE 35 F NAE TR W e g@RT Hidl &6 §
o % 3Tl a9 Fr3e & Rk &ear

4 % URL & #Ares# & U daus &7 @i el §

Question Number : 51 Question Id : 13559 Question Type: SUBJECTIVE
Correct : 25.0

[BEIEIECREGIAEIEEI e E

TR ay 2o ¥ - ¢ u o AEH THRTH UF FOAT = SO TR | 9T S B SR ST 3 TR & Aga 4= d-1 &
T TR ST (6§ et ) At ARC S &t et T SNw UER 0T W UEiad U Sriie & ATe § AP T § i
AT SUHT 5 AR I T O @ TS ORT R e e T e (e eRd | e S e p i S ST JeuTe gEdT

1 T 5T o oAt 7 meiegm A o 21
EGIGECR:

M%Wﬁﬁmﬂﬁﬁmaﬁwﬁ(ﬁ T3 ) &t ABC & onT S 9o U=t § uariag et w
e amdie &7 7diar 49w

Question Number : 51 Question Id : 13559 Question Type: SUBJECTIVE
Correct : 25.0
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TR e 2o gw- ¢ & SIf9w TR T 0w FUAT S0 AR A 2T FRER § S=E AT 3 T o AgeTat F-1 &
T BRI ST (6T 8 a7, ) #fT ABC - ot ot @1 S 90ER o7 W Ui U Sl o ATed o AP T & T
T ST 5 AR T T o1 O RIS QT 3 aiTT e T el Teieriey e2rtd = Sraet 6 9o & e Se- ST Jeame gudr
it 5Te o Tt 7 e ot Fpr 31

T EeH

w%mﬁﬁmwﬁﬁmmﬁr T At ) #T ABC W TRT S TN T3 H URTTAT T @
TrITET 3T % /G W

Question Number : 52 Question Id : 13560 Question Type: SUBJECTIVE
Correct : 25.0

FAENE, A% et dr e & ABC = T2 T STrea SEiad 2 00w & arefid @Erua TergTIT o ST Al gt
STTEIRTCT (AT, U BTTE . AT ) F A AT HATE d & Thg FASH B 132, 0¢. 2020 T < T IIAT &1 JUATT & e
T (i) IUACETT BT BT BT Y GFaEd AT i T o GFael § S 7 gl

T e ST TerdTT & O dheled Wor Taleg (3%.0¢.20 0 ) B S H 20 51 2 SIA1 ol T 3 ol TIT 81 Teg GRIg-T o ST
et Tl ST aTui= [T & 07 51

SO A
QT U ST T 3 ST e T S 7 ofR § gy meiter dar

At ABC I U % & H e i, Foras T # Suses Tt & S T 5T S w0y AT ST T A g {or SR T ger |
ITeh UTE gl & 31T Ik STda @ anu=4 [T o |1 U 32, 3. @ aigia rar ar wra

Question Number : 52 Question Id : 13560 Question Type: SUBJECTIVE
Correct : 25.0

FAENE, A% et dr e & ABC = T2 T STrea SEiad 2 00w & arefid @Erua TergTIT o ST Al gt
STTEIRTCT (AT, U BTTE . AT ) F A AT HATE d & Thg FASH B 132, 0¢. 2020 T < T IIAT &1 JUATT & e
T (i) IUACETT BT BT BT Y GFaEd AT i T o GFael § S 7 gl

T e ST TerdTT & O dheled Wor Taleg (3%.0¢.20 0 ) B S H 20 51 2 SIA1 ol T 3 ol TIT 81 Teg GRIg-T o ST
et Tl ST aTui= [T & 07 51

SO A
QT U ST T 3 ST e T S 7 ofR § gy meiter dar
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Question Number : 53 Question Id : 13561 Question Type: SUBJECTIVE
Correct : 25.0

FeTaET o ue e 800 et | e iy |
o Ra aredfeaasar & &7 & IvET 9g

Question Number : 53 Question Id : 13561 Question Type: SUBJECTIVE



Correct : 25.0

TrfeTaET o ur ey 600 et | e iy |
o Ra aredfeaasar & &7 & IvET 9g

Question Number : 54 Question Id : 13562 Question Type: SUBJECTIVE
Correct : 25.0
TRTRTET T T @RI ¢ 6o Segl H AR a=1g T Ia Toy o didw o gama

R = T TG T F1 reled & Tar § o ad 2030 T AT S8 Flal- Joei- ol Hreal BT H 33 9 3« GiEg) oer 31 |
FITeRT ST AT 29 2ot @ AT & A g o e o TIFHE H T G T BTeliel Joaie T GHEC seral sl &
% B AT W ST AT o2 T H U UG g 57 @1 Wk o T sleha T AT R0l o oy SEaATe @y (g & AT STead (g 14 O i
TR S2 3 ST WG UF Gallel aTa | & el e ad gdl H He Joaei & afa S w1l 9T & | agusd § a4t T
I HIET T4 5 ST 90 ST O ®lad, Hlad 215 1TSS & & H ST e0 § Wi 51 Flei ] AT g & H1 51 &¥a | & TH 54
T FILT a5 AT 2]
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Question Number : 54 Question Id : 13562 Question Type: SUBJECTIVE
Correct : 25.0
TRTRTET T T @RI ¢ 6o Segl H AR a=1g T Ia Toy o didw o gama

R = T TG T F1 reled & Tar § o ad 2030 T AT S8 Flal- Joei- ol Hreal BT H 33 9 3« GiEg) oer 31 |
FITeRT ST AT 29 2ot @ AT & A g o e o TIFHE H T G T BTeliel Joaie T GHEC seral sl &
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T FILT a5 AT 2]
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Question Number : 55 Question Id : 13563 Question Type: SUBJECTIVE
Correct : 25.0

Mr Sivanjaneylu , a civil contractor regularly purchases his supplies from ERRoyal Hardware , Hyderabad. His
recent invoice dated 27 /9(2015, according to him has a glaring error in that the 100 washbasins that he had
purchased have been priced at Rs 4000( - per itern comparad to Bs 2500/ - that he had paid for the same on
221972015 He feels that this discrepancy is because of negligence on the part of the staff of RREoval
Hardware.Cn the other hand Mr Eajkiran, the proprietor of the shop knows that they hawe cormmitted no error
in the pricing as the brand 555EREWARE, whose iterns Mr Sivanjaneylu had purchased, had hiked the prices of
its products o 2492015,

In this background prepare the following draft:

write a letter of complaint as written by Mr Sivanjaneylu to Mr Rajkiran of Roval Hardware, expressing his
dissatisfaction with his firm for overpricing the SSSEREWARE wash basins.

Question Number : 55 Question Id : 13563 Question Type: SUBJECTIVE

Correct : 25.0

Mr Sivanjaneylu , a civil contractor regularly purchases his supplies from RRERoval Hardware , Hyderabad. His
recent invoice dated 27 /9/2015, according to him has a glaring error in that the 100 washbasins that he had
purchased have been priced at Bs 4000/ - per itern compared to Rs 2500/ - that he had paid for the same on
221972015 He feels that this discrepancy is because of negligence on the part of the staff of RREoval
Hardware.Crn the other hand Mr Rajkirar, the proprietor of the shop knows that they hawve cormmitted no error
in the pricing as the brand SSSEREWARE, whose iterns Mr Sivanjaneylu had purchased, had hiked the prices of
its products o 2492015,

In this background prepare the following draft:

write a letter of complaint as written by Mr Sivanjaneylu to Mr Rajkiran of Roval Hardware, expressing his
dissatisfaction with his firm for overpricing the SSSEREWARE wash basins.

Question Number : 56 Question Id : 13564 Question Type: SUBJECTIVE
Correct : 25.0
Write a précis of the following passage in around 150 words, and also suggest a title for it

Globalization means integrating the country's econory with the world econormny. [ this process, things and
services along with capital, labor and resources can move freely from one country to another. The main
emphasis of globalization rests on increasing domestic and foreign competition. This can be done by applying
detailed marketing systermn and by felicitating a dynamic relationship with the foreign investors and technology
providers. In the Indian context, the above facts can be understood in this manner:

1) Economy to facilitate foreign companies for foreign direct investment, so that they can invest in India's
VArious econorric activities,

2) To remowe barriers and restrictions posed in the entry of MMNCs in India,

2) to allow Indian companies for overseas cooperation in India, and to encourage thern to set up joint ventures
abroad,

The process of Globalization had started in the 80s when it began to give many concessions to the foreign
investors. Multinational companies were made allowed to invest in such areas including defense, which were
earlier banned for foreign companies. Except for some areas, license systerr was abolished for all other areas.
Imports were made very generous. But the process of Globalization got real encouragerment wher the
government of India implemented its new economric policy in July 1991, Since then, some new steps have been
taken towards globalization. Indian rupee has been made fully convertible on the current account.

According to the proposals of the World Bank, India's import policy allows duty-free imports of all goods,
except the negative list. NRIs and foreign investors are being given many facilities and incentives for foreign
direct investrment. On considering the recommendations of foreign cooperation separately, it shows that, the
main part of the investment has been invested in the main and priority areas and the comrmunicating area
hawve not even been touched. Not only this, the difference between developed and developing states is
increasing vastly. The main part of both domestic investment and foreign direct investment has already been
given to the developed states.
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Correct : 25.0
Write a précis of the following passage in around 150 words, and also suggest a title for it

Globalization means integrating the country's economy with the world economy. In this process, things and
services along with capital, labor and resources can move freely from one country to another. The main
emphasis of globalization rests on increasing domestic and foreign competition. This can be done by applying
detailed marketing svsterr and by felicitating a dynamic relationship with the foreign investors and technology
providers. In the Indian context, the above facts can be understood in this manner:

1) Economy to facilitate foreign companies for foreign direct inwestment, so that they can invest in India's
TAriouSs eCcororTic activities,

2) To remowve barriers and restrictions posed in the entry of MNCs in India,

3) to allow Indian companies for overseas cooperation in India, and to encourage thermn to set up joint ventures
abroad,

The process of Globalization had started in the 805 when it began to give many concessions to the foreign
investors. Multinational companies were made allowed to invest in such areas including defense, which were
earlier banned for foreign companies. Except for some areas, license systerr was abolished for all other areas.
Imports were made very generous. But the process of Globalization got real encouragement when the
government of India implemented its new econornic policy in July 1991, Since then, some new steps have been
taken towards globalization. Indian rupee has been made fully convertible on the current account.

According to the proposals of the World Bank, India's import policy allows duty-free imports of all goods,
except the negative list. NRIs and foreign investors are being given many facilities and incentives for foreign
direct investment. On considering the recormendations of foreign cooperation separately, it shows that, the
main part of the investment has been invested in the main and priority areas and the communicating area
hawe not even been touched. Not only this, the difference between developed and developing states is
increasing vastly. The main part of both domestic investment and foreign direct investment has already been
given to the developed states.



